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Paper Contents

Proposes a search duopoly model with sequential
arrival.
New Price is a function of available space and
amount of remaining clients.
New Duopoly can charge higher price than
monopoly.
... therefore, welfare lower than in monopoly.
So, merging might be beneficial.
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Capacity

Paper thinks about capacity.
... duopolies provide sufficient capacity in simple
cases.
Monopolist is likely to choose a smaller capacity than
two duopolists (you have an example when two
duopolists choose the capacity of 2 each — no way
monopolist will find it reasonable to have a capacity
of 4).
... which might not be seen when one has 3 clients...
... but should definitely appear if we talk about
airlines and hotels.
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Knowing the Market Size

I do not believe airlines know the amount of people
who consider their flights.
This makes competition too strong (“clear-the-deck”
and such).
In short-run, airline ticket price depends upon
capacity and time, but not on prices of competitors.
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Minor Stuff

I think the examples are very useful, and indeed show
that it is possible to have less profit and sales in
duopoly than in monopoly.
I think this interaction is important.
I don’t think the modeling of airline industry is correct
(knowing the amount of clients).
I think the welfare should take into account the
capacity choice by both monopoly and the duopoly.
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